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What do you mean by Bluetooth and Wi-Fi?
Explain related wording model.
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8. Explain hierarchy classes of IP address using
related structure.
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What do you mean by division of address space?
Described it with suitable diagram.
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Time : 3Hrs. Sem. -V/CSE
I. W.T.

Full Marks : 70
Pass Marks : 28
Answer all 20 questions from Group A, each question

carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |
Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR (3121an)

Explain working principles of fast ethernet with

examples.

BRE 3ARAC & Hl Rigrd &) SerEvl &
Tl ATEAT DY |

What do you mean by conjection control? Explain
its working principle.

FAGTIT Bl AT Bl 82 D BRI
g & aar=T & |

OR(3721dT)

Write different steps of conjection control with

respect to any network system.

fedl ft dcaw & ded ¥ oA dold b
e vaey @l ford |

What do you mean by world wide web? Explain its
working principle. 4
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(i)

(iii)

(iii)

(iv)
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The communication protocol used by
internet is

(a) HTTP

(b) WWW

(c) TCP/IP

(d) FTP

B9 GT Yieldld HIFaIE & forg
SeXAT SUAIT Bl 2—

@) wa & & a

(@) s s sq

(®|) <1 4@ qi /3 @

(%) v & @

TCP is a commonly used protocol at:
(a) Application layer

(b) Transport layer

(c) Network layer

(d) Data link layer
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Answer all Five Questions.

i) Ui gl & SR ©

2.

4x5=20

How gateway helps to transmit the date in network

system? Define it using proper diagram.

4

Wed srel Ao4 d Acded o9 ggradl dedl
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N |
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(vi)

(vii)

(vii)
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HTML uses

(a) User defined tags

(b) Pre specified tags

(c) Fixed tag defined by the language
(d) Tags only for linking

T4 & U U SUANT PRl 2

(31) gk gRT uRwIfRE S
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(@) o 27 o {6 dTAS @ gRI
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() 2w ot fo foies & forw SUART 8ar
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Fundamental HTML block is known as
(a) HTML body

(b) HTML tag

(c) HTML attribute

(d) HTML element
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Which of the following is used to send e-mail (xi)
to a large group at one time:

(a) Listener

(b) Group

(c) Alias

(d) Mail server

S 399 A 9 B9 91 99T YU &l U@
AT Al B & ¢ SUANT HRAT 2—
(@1 foreR

(@) 7

(¥) QoS

(2) o wdx

(xi)

Which tag is used to display a picture in (xii)
HTML page

(a) Picture

(b) Image

(c) SRC

(d) None of the above
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To search FTP archives for a file you should
use which tool.

(a) Gopher

(b) Jughead

(c) Archie

(d) None of above

ST 9 P9 491 <d U% <1 WY A
&l Wiod & g SuAT grdr 8-
(31) MHR

C)RSRES

(|) ==

(%) s99 9 ®Ig T8l

Which of the following is often referred it as
"the CB of the internet":

(a) ICR

(b) FTP

(c) E-mail

(d) HTTP

P.T.O



O°'Ld

dLIAS (P)
dod (9)
dLd (9)

dLLH (e)
‘[020301d yoIyMm
Sasn 1xX3} 9[{1 [I} psugap S I9AIAS HBUI QI{_L

Bk Ble R pes (2)

Bpji RERYLIE bage (1)

BRRIR RbRY Ll (k)

R bhbpd (k)

—3 13 3k

DPEhe kid B k3 M| © h Sle

3sayy Jo duoN (p)
9OIAIAS d[qerfaIun udyQ (9)

9OIAIAS 9[qeI[AI YO (q)
SS9 UoNAUU0)) (B)

:[0o0301d
dI 103 91qeorjdde jou st 9S9Y) JO YOIYA\

Bk Ble B pbS (2)
111 ()

L (b)

0 (k)

—2 ID|2 Ilkhe R2p 1RP

AR} ¢ LIBP D 2hledi kRl 14 Lpoh

€0S8191 6

(1%)

(a%)

(a%)

(A1x)

€C0SLN

asay jo auoN (p)

onfeA 11LL (o)

1(Q)

0 (e)

“Judwde) Jse|

J) JedIpUL 0} dN[BA el Yl 9q PINOYS JBYA

Bope (2)

2k (B)

238 (p)

22h (i)

—R 1blie 136 e

2 Ixd By (@ bl ok @) o o

Juawwo) (p)

pear[. (9)

1SI7(q)

1504 (v)

: & pa[reo uondo

st dnoi3smau e uo sarjdax ym d3essowr

bR R e ()

By (1)

BB @ (b)

G e e ()

3 1M Mjle 1@ Dlaoed

e (p [ LIzhlE 1B kG B pRE

€T0SILN 8

(Arx)

(%)

(1)

(1x)

€0S8191



1618503 17 NT5023

9.

10.

How IP diagram helps to detect and correct the

errors? Explain it.
6

ars f SR &8 TR & YuRA ¥ F@r«n
HYAT 827 IAD! TATET BN |
OR (3121a1)

Differentiate the working principles of IPV4 &
IPV6 with a suitable example.

g °1 1 4 3R 3z @ Y 6 I SUYa
ITERYT B FerIal 9 fem=ige & |

What do you mean by domain name system ?
Explain it with related structure.

S A9 Riew @1 ghar 87 a9 Rads
TS HaAR Bl AT B |

OR(3721dT)

What is hierarchical multiple server? Explain it
with proper diagram.

P.T.O
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9.

10.

How IP diagram helps to detect and correct the

errors? Explain it.
6
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OR (3121d1)

Differentiate the working principles of IPV4 &
IPV6 with a suitable example.

arg 4 1 4 @R g G Al 6 B SUYaTd
ITERYT B Werar 4 fem=fige & |

What do you mean by domain name system ?
Explain it with related structure.

S99 99 e @7 glar 87 3949 Rdcs
A PHaR B AT B |

OR(3721dT)

What is hierarchical multiple server? Explain it
with proper diagram.
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